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(13) Show that ia « Finife eyclic grovp of order A, the eﬁum{-ion xM=e lhag
exact|y m solv tious J'ar each m |a.

'Prao{‘\ \-6_\' G =(6\>) a(a) =N < oo, _R A:n/m +H.en @\‘,H)Mz a‘“\ - e «Cor
eadhn je Z. Since a,‘dz PLLEPEN jd9 = kd (> & jzk (), Jhe set <ady
c@v\“‘alns exac‘Hy m galv+30"S +o xM=-e. No o‘H\er eleme««f“s a{ & <olve

x"2e since (a‘)‘"=e = lm =0 (W) = {z= 0 (d) = alzad? e <a'>

for gome J//

(4) A cyt‘EC 5'0«/? with more ttan fwo elements Lus af /fad +wo jﬁuem%ws

Emi* Tf G =<a) thea 6=4a") 45 well, <ince a.kz(a")’k_ TFf a=a"'
+hea atze aad I§/=2) so Fl6l >2 4ten a and 27 Lre a/:‘s%"vc“/.//

GL”J) ﬁ G is a 5rouP a‘)c order Y1 with no Proper suéjroupj ‘f‘ﬁeq 53’2?,/
P ?P:M'e.
Poo“\-. Le“ e G 64‘9. Thean <ﬁ> (S & subgrov éb 6 so <j>:6.
e J= 97 979 at
It a(j);oo taeu <j D is a propev Subjroupl so  o(9)<wo, F

0(5}.—.nm/ n>/ aad m>l, +hey (j”) PRS a/am/)er SU@MUP‘
Heace o(9d> is prime y

(18 > #(d) =n
d|n

quf: Stqce anj [E] (-Z/,, Aas order J/n/ +he se‘/‘ 1,, can ée /Darf;fionec/
according o the order of the suéj roup ﬂewem-ﬁe./;

Z, Jl_L [, o ([b)=d}
d[n
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OU‘)[!J} :-/\.ZZLJ and so V\=Z I{U‘ja 0([“74\:4
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